P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.
2/17/2023	

Name/Address

PO Number Payment Method		Job
	Net 30	Tower Road

Description	Qty	Rate	Total
Decom and install waveguide @ Tower Road	2	3,000.00	6,000.00
Mob and de-mob within Williamson CO		495.00	495.00
Decom, assemble and install 6' dish	2	3,500.00	7,000.00
Out-of-state sale, exempt from sales tax		0.00%	0.00
		Total	\$13,495.00

P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.
8/9/2023	

Name/Address

PO Number	Payment Method	Job
	Net 30	Cedar Park South

Description	Qty	Rate	Total
Decom, assemble and install 6' dish Cedar Park South	1	3,500.00	3,500.00
Mob and de-mob within Williamson CO	2	495.00	495.00
Remove & reinstall waveguide Out-of-state sale, exempt from sales tax	3	2,000.00 0.00%	6,000.00 0.00
		Total	\$9,995.00

P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.
2/17/2023	

Name/Address

PO Number Payment Method		Job
	Net 30	Cedar Park

Description	Qty	Rate	Total
Decom, assemble and install 6' dish Cedar Park	2	3,500.00	7,000.00
Mob and de-mob within Williamson CO		495.00	495.00
Remove & reinstall waveguide	2	2,000.00	4,000.00
Out-of-state sale, exempt from sales tax		0.00%	0.00
		Total	\$11,495.00

P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.
2/17/2023	

Name/Address

PO Number Payment Method		Job
	Net 30	Granger

Description	Qty	Rate	Total
Decom, assemble and install 6' dish Granger	2	3,500.00	7,000.00
Mob and de-mob within Williamson CO		495.00	495.00
Remove & reinstall waveguide	2	2,000.00	4,000.00
Out-of-state sale, exempt from sales tax		0.00%	0.00
		Total	\$11,495.00

P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.	
8/9/2023		

Name/Address

PO Number	Payment Method	Job
	Net 30	Liberty Hill

Description	Qty	Rate	Total
Decom, assemble and install 6' dish Liberty Hill	1	3,500.00	3,500.00
Mob and de-mob within Williamson CO		495.00	495.00
Remove & reinstall waveguide	2	2,000.00	4,000.00
Out-of-state sale, exempt from sales tax		0.00%	0.00
		Total	\$7,995.00

P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.
2/17/2023	

Name/Address

PO Number	Payment Method	Job
	Net 30	Prime Site

Description	Qty	Rate	Total
Decom, assemble and install 6' dish Prime Site	3	3,500.00	10,500.00
Mob and de-mob within Williamson CO		495.00	495.00
Remove & reinstall waveguide	3	2,000.00	6,000.00
Out-of-state sale, exempt from sales tax		0.00%	0.00
		Total	\$16,995.00

P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.
8/9/2023	

Name/Address

PO Number	Payment Method	Job
	Net 30	Taylor

Description	Qty	Rate	Total
Description Decom and install waveguide @ Taylor Mob and de-mob within Williamson CO Out-of-state sale, exempt from sales tax	Qty 2	3,000.00 495.00 0.00%	6,000.00 495.00 0.00
		Total	\$6,495.00

P. O. Box 513 Little River, TX 76554

Estimate

Date	Estimate No.	
8/9/2023		

Name/Address

PO Number	Payment Method	Job
	Net 30	Thrall

Description	Qty	Rate	Total
Remove & install 7/8 " coax @ Thrall	1	3,000.00	3,000.00
Mob and de-mob within Williamson CO		495.00	495.00
Remove & reinstall waveguide	2	3,000.00	6,000.00
Out-of-state sale, exempt from sales tax		0.00%	0.00
		Total	\$9,495.00